32B Lect. 3 Midterm 2

February 28
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Rules.

Tuesday with Allen Boozer
Thursday with Allen Boozer
Tuesday with Steven Gagniere
Thursday with Steven Gagniere
Tuesday with Francis White
Thursday with Francis White

e There are FOUR problems; fifteen points per problem.

e There are two extra pages at the end. You may also use the backs of pages.

Try to sit still.

Turn off your cell-phone.

No calculators, computers, notes, books, crib-sheets,...
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Out of consideration for your class-mates, no chewing, humming, pen-twirling, snoring,...



(1) Evaluate

1,122
/ / xy® dy dzx
o Jo

by changing variables via z — uv and y = uy/1 — 02,
v Yo

Ve
b
>

\ x ec:- w0

6w ) = (ay, T-) = s v

*=O0 =2 Wv=0 = uzo ,,
\1-:0‘-)(,\\,‘-_0_),‘10 o ":t‘m

A o

*E ‘f'l:\ - v&‘%m‘(\«q")vo .aa@
' e W L o

W RN e

}3 (U\V) (u\my; lﬂ'«d(,—c.-)\d‘,l,
P




(2) Compute
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€re 7y passes from (0, 0) to (1, 1) along the curve y = z°.
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(3) (a) For what value of \ is the vector field
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conservative in the region where z > —1? P S
(b) Find a potential with this value of A. (A\) VRS 7 1) 1
ve- Cx a0y B
b S ) ‘
w v ' ‘ T A -%:‘
[ 2328 1..( l = / (/ = - b
> -~ i A + G T RTET i
TRl Te s R T by ) i (0
2=ty —v—% ( :*“ AL,
?\' <X\ x® ‘

'(M (;4\'\'\
m‘ ','.-L_-———‘q—("“*c\ " -

i x| x*)

T (Zx\{ A eq)

}G:.ﬂ s I (‘*""‘aﬁ\




st A N Q’){ :

(& _ N AL Lo
s e .

’ (4) Let H denote the surface where 22 = 1 4 ;2 +4% and 0 < 2 <2 Com put 4
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